## OFFICE OF THE DEAN COLLEGE DEVELOPMENT COUNCIL UNIVERSITY OF KASHMIR



NAAC Accreedited Grade - 'A+'

B. Ed. Selection Notification - 2 of 2023

Department of Education Main / South Campus

(Session 2023 - 25)

The candidates whose particulars are mentioned in the selection lists appended to this notification have been selected provisionally for admission to **B. Ed programme** session 2023 - 25 purely on the basis of merit obtained by them at UG / PG level.

## **Important Note:-**

The Head Deptt. of Education Main Campus / Coordinator Deptt. of Education, South Campus, University of Kashmir shall ensure that all the selected candidates possess the minimum required eligibility and have passed their qualifying examination / have category certificate (if selected under any reserved category) issued by or before 12th Dec, 2023. The same may be verified by the original documents/certificates of the candidate. No authority slip shall be issued by the Head Deptt. of Education Main / South Campus to the candidates who aren't eligible or does not have valid category certificate.

The admission of the candidates is subject to the:-

- 1. Production of all relevant original documents {Marks Card/s of qualifying examination, Provisional and Character certificates of the Institution last attended, valid Reserved Category Certificate (wherever applicable), Migration Certificate};
- 2. Production of eligibility cum revival of registration/migration form wherever applicable alongwith prescribed fee;
- 3. Fulfilling of minimum required eligibility conditions to be verified by the concerned Deptt;
- 4. Clearance from the Academic Section in respect of the candidates having qualified examination from Universities/Institutions other than University of Kashmir;
- 5. NOC from the concerned Department in case of In-service candidates;
- 6. Production of an affidavit sworn in before Ist Class Magistrate stating that:
  - O I am not on rolls of any other Institution;
  - O All the submitted certificates/documents are genuine;
  - o I have not availed the benefit of the reserved category certificate for pursuing any UG Programme earlier (if seeking admission under Reserved Category);
  - o I will strictly adhere to the rules and regulations of the University;
  - O I understand that in case of any misinformation or concealment of any information or indiscipline, my admission to the programme shall be cancelled and I shall be subjected to legal action;
  - O I submit this affidavit under free will and without any pressure, compulsion, fraud or coercion.
- 7. The provisionally selected candidates should go through the detailed instructions regarding the submission of admission forms available on the official website of <a href="www.kashmiruniversity.net">www.kashmiruniversity.net</a>. The students are advised to minutely go through the instructions before the submission of Admission Form etc. The selected candidates are hereby directed to complete the admission formalities from <a href="Ist March">Ist March</a>, 2024 to <a href="Ith March">11th</a> March</a>, 2024. However, before depositing the required admission fee the candidates shall have to approach alongwith all documents / certificates in original to the mentioned respective departments for verification of the documents / certificates and obtaining authority form the concerned Head / coordinator for deposition of the admission fee. Any provisionally selected candidate failing to complete the admission formalities upto <a href="Ith March">IIth March</a>, 2024 shall forfeit his / her right to admission and the resultant vacancy (ies), if any, shall be filled up from among the waiting list candidates.

Sd/-**Prof. Khursheed Ahmad Butt** Dean, College Development Council

No: F ( Sel List. II - 02 Year B. Ed. Main / South Campus)) CDC/KU/24/2023 -- 25 Dated:  $28^{\rm th}$  Feb, 2024

		Selection List No.	. 2 for 2-Year B.Ed. (Regular Mo	ode) offere	d at Depai	rtment o	f Educati	on, Univer	sity of Ka	shmir		
Sr.	Form No.	Name	Parentage	UG M.M	UG M.O	UG %	UG Out of 90	PG M.,M	PG M.O	PG %	PG Out of 10	Total out of 100
	OM											
1	23360202	SHAFIA AFZAL	MOHAMMAD AFZAL BHAT	10	7.21	72.10						72.10
2	23360199	RUTBA SHAMIM	SHAHMIM AHMED DAR	10	7.2	72.00						72.00
3	23360460	INSHA FAYAZ	FAYAZ AHMAD RATHER	10	7.2	72.00						72.00
4	23360249	ANNUM JAN	MOHD YOUSUF MALIK	10	7.2	72.00						72.00
5	23360303	NATIQA MUSHTAQ	MUSHTAQ AHMAD RATHER	10	7.2	72.00						72.00
6	23360243	MISBA RAFIQ	MOHAMMAD RAFIQ DAR	1000	718	71.80						71.80
7	23360310	SHAYESTA AYOUB	MOHAMMAD AYOUB KHAN	10	7.19	71.90	64.71	2500	1750	70.00	7.00	71.71
8	23360348	HAMNA	FAYAZ AHMAD GUNDROO	10	7.04	70.40	63.36	10	8.19	81.90	8.19	71.55
9	23360095	AYESHA GULZAR	GULZAR AHMAD GUROO	10	7.12	71.20						71.20
10	23360148	HYPHA TANVEER	TANVEER AHMAD SHAH	10	7.12	71.20						71.20
11	23360305	FARHEEN NIYAZ	NIYAZ AHMAD KOUL	10	7.12	71.20						71.20
12	23360042	SHUGUFTA BASHIR	BASHIR AHMAD SHEIKH	10	7.12	71.20						71.20
13	23360273	TAJAMUL AHMAD DAR	GH QADIR DAR	10	7.23	72.30	65.07	800	484.5	60.56	6.06	71.13
14	23360025	JEHANGIR MUMTAZ	MOHAMMAD MUMTAZ GANIE	10	7.1	71.00						71.00
15	23360401	INSHA HASSAN	GH HASSAN BHAT	10	7.1	71.00						71.00
16	23360120	SADAF RAFEEQ	MOHAMMAD RAFEEQ DAR	10	7.09	70.90						70.90
17	23360132	KOUSAR GUL	GH MOHD MIR	10	7.07	70.70						70.70
18	23360011	MOHSINA MOHMAD	GHULAM MOHAMMAD RESHI	10	7.07	70.70						70.70
19	23360127	ASRA	MOHAMMAD YASEEN WANI	10	7.07	70.70						70.70
20	23360253	GAZALA GULZAR	GULZAR AHMAD MALIK	10	7.04	70.40						70.40
21	23360336	MEHBOOBA AKHTER	ABDUL SALAM LONE	10	7.01	70.10						70.10
22	23360131	ISHFAQ AHMAD PARREY	GH AHMAD PARREY	10	7.01	70.10						70.10
23	23360189	TAJELI	BASHIR AHMED DARZI	10	7.01	70.10						70.10
24	23360301	BISMA AMEEN	MOHAMMAD AMEEN THOKER	10	6.91	69.10	62.19	10	7.58	75.80	7.58	69.77
25	23360400	MAAJID HUSSAIN	GULAM RASOOL KHAN	2600	1805	69.42						69.42
26	23360068	FIRDOSA JAN	ABDUL GAFFAR MIR	10	6.94	69.40						69.40

		Selection List No	. 2 for 2-Year B.Ed. (Regular Mo	ode) offere	d at Depa	rtment o	f Educati	ion, Univer	sity of Ka	shmir		
Sr.	Form No.	Name	Parentage	UG M.M	UG M.O	UG %	UG Out of 90	PG M.,M	PG M.O	PG %	PG Out of 10	Total out of 100
27	23360052	AABIDAH SULTAN	MOHAMMAD SULTAN PARRAY	10	6.94	69.40						69.40
28	23360113	ROMANA NABI	GH NABI DAR	10	6.92	69.20						69.20
29	23360206	MAHWISH MAJEED	ABDUL MAJEED	10	6.92	69.20						69.20
30	23360261	ROMAISA RASHID	ABDUL RASHID DAR	10	6.92	69.20						69.20
31	23360195	AKSA MEHRAJ	MEHRAJ UDIN DAR	10	6.77	67.70	60.93	10	8.22	82.20	8.22	69.15
32	23360237	IFRA MOHAMMAD	SHEIKH GHULAM MOHAMMAD	10	6.91	69.10						69.10
33	23360184	SURAIYA RASOOL	GH RASOOL SHEIKH	10	6.91	69.10						69.10
34	23360304	NADIYA IMTIYAZ	IMTIYAZ AHMAD HILAL	10	6.91	69.10						69.10
35	23360311	HAFSA NOOR	NOOR MOHAMMAD TELI	10	6.91	69.10						69.10
36	23360088	IQRA FAROOQ	FAROOQ AHMAD BHAT	10	6.79	67.90	61.11	10	7.974	79.74	7.97	69.08
37	23360395	SIRAH BINTI NAZIR	NAZIR AHMAD WANI	10	6.9	69.00						69.00
38	23360041	BASAAM QUYOOM	ABDUL QUYOOM AHANGER	8000	5499	68.74						68.74
39	23360345	SHAYISTA RASHID	AB RASHID MALLA	10	6.86	68.60						68.60
40	23360459	SHEIKH SAIMA	AB AHAD SHEIKH	10	6.84	68.40						68.40
41	23360072	JAVID AHMAD	GH AHMAD MIR	1800	1231	68.39						68.39
42	23360146	SUMY JAN	BASHIR AHMAD BHAT	10	6.83	68.30						68.30
43	23360292	BISMA AKHTER	MOHAMMAD ISMAIL MIR	10	6.82	68.20						68.20
44	23360009	ROMISA HAMEED	ABDUL HAMEED GANAI	10	6.81	68.10						68.10
45	23360231	HADIYA LATIF	MOHAMMAD LATIF BHAT	10	6.81	68.10						68.10
46	23360063	RAKIYA QOUSAR	NASEER AHMAD SHAH	10	6.8	68.00						68.00
47	23360147	SEHAR GULZAR	GULZAR AHMAD RATHER	10	6.79	67.90						67.90
48	23360178	UZMA MUKHTAR	MUKHTAR AHMAD SHEIKH	10	6.79	67.90						67.90
49	23360221	BISMA QAYOOM	ABDUL QAYOOM MIR	10	6.79	67.90						67.90
50	23360039	SEHRISH BASHIR	BASHIR AHMAD SHAH	10	6.76	67.60						67.60
51	123360313	MOHD SHOAIB BHAT	WALI MOHD BHAT	10	6.76	67.60						67.60
52	123360359	SEERAT UL HAROON	HAROON RASHID BHAT	1800	1203	66.83	60.15	10	7.37	73.70	7.37	67.52
53	23360073	INSHA RASOOL	GH RASOOL BHAT	100	67.4	67.40						67.40
54	23360397	SAIRA DRABU	SHOWKAT AHMAD DRABU	10	6.74	67.40						67.40
55	23360441	ASIMA	NOOR MOHD DAR	10	6.62	66.20	59.58	10	7.79	77.90	7.79	67.37
56	23360139	ARIBA ALTAF	ALTAF AHMAD MIR	10	6.72	67.20						67.20
57	23360358	ASMAT ARA	GH MOHD BABA	10	6.72	67.20						67.20
58	23360346	IFLA MUSHTAQ	MUSHTAQ AHMAD WANI	10	6.71	67.10						67.10

		Selection List No	. 2 for 2-Year B.Ed. (Regular Mo	ode) offere	d at Depa	rtment o	of Educati	on, Univer	sity of Ka	shmir		
Sr.	Form No.	Name	Parentage	UG M.M	UG M.O	UG %	UG Out of 90	PG M.,M	PG M.O	PG %	PG Out of 10	Total out of 100
59	23360071	MUNTAZIR NAZEER	NAZEER AHMAD THOKER	10	6.7	67.00						67.00
	•			RBA	•	•	•					
1	23360006	MUKHTAR AHMAD BHAT	MOHAMAD RAMZAN BHAT	10	6.54	65.40						65.40
2	23360089	AAMIR HASSAN PEERZADAH	GH HASSAN PEERZADAH	1800	1152	64.00	57.60	10	7.55	75.50	7.55	65.15
3	23360168	KOWSAR FAYAZ	FAYAZ AHMAD ITOO	10	6.44	64.40						64.40
4	23360136	UZMA FAYAZ	FAYAZ AHMAD SHAH	10	6.43	64.30						64.30
5	23360058	OUMER FAROOQ	FAROOQ AHMAD KHAN	10	6.34	63.40						63.40
6	23360019	AFROZA BANO	GHULAM AHMAD MIR	10	6.33	63.30						63.30
7	23360092	SAIMA JAN	ABDUL GAFAR TANTRAY	10	6.29	62.90						62.90
8	23360034	HIJAZA NAZEER	NAZEER AHMAD LOAN	10	6.27	62.70						62.70
9	23360166	RUBEENA AKHTER	MOHAMMAD AYOOB KHAN	10	6.22	62.20						62.20
10	23360272	IRSHAD NABI BHAT	GHULAM NABI BHAT	10	6.2	62.00						62.00
				WUP			_					
1	23360329	SHAFIYA REHMAN	ABDUL REHMAN AHANGER	10	5.7	57.00						57.00
				ST	•	-				-	•	
1	23360344	SAFIYA AKHTER	ABDUL MAJID SHAH	10	5.61	56.10						56.10
2	23360201	ALI MURTAZA	MOHD JAWAD	10	5.48	54.80						54.80
3	23360102	ARIF HUSSAIN	HAJI SADIQ	1800	872	48.44						48.44
4	23360366	SHAMIMA BANOO	MOHD YOUNUSS KASANA	1800	867	48.17						48.17
		<del>,</del>		OSJ								
1		MEHVISH	MOHD ASLAM CHANDAIL	10	8.11	81.10						81.10
2	23360230	DEEPAK SHARMA	ROSHAN LAL	1200	938	78.17	70.35	1800	1010	56.11	5.61	75.96

	Select	ion List No. 2 for 2-Yea	ar B.Ed. (Regular Mode) o	ffered at	t Depart	ment o	f Educat	ion, Sou	th Camp	us, An	antnag	
Sr	Form No.	Name	Parentage	UG M.M	UG M.O	UG %	UG Out of 90	PG M,M	PG M.O	PG %	PG Out of 10	Total out of 100
	•	1		ОМ					•	1	•	1 2 3 3
1	23360280	SHAHID AHMAD LONE	ABDUL RASHID LONE	10	6.75	67.50						67.50
2	23360355	BISMAH FAYAZ	FAYAZ AHMAD RATHER	10	6.73	67.30						67.30
3	23360055	SOBIYA JAN	MOHAMMAD AMIN MALIK	10	6.71	67.10						67.10
4	23360246	ARBEENA ARSHAD	ARSHAD AHMAD BHAT	10	6.66	66.60						66.60
5	23360240	SAMI	GHULAM HASSAN LATOO	10	6.66	66.60						66.60
6	23360299	INSHA IQBAL	MOHAMMAD IQBAL KHANDAY	100	66.6	66.60						66.60
7	23360062	SHAFIYA AMIN	MOHMMAD AMIN MIR	10	6.46	64.60	58.14	10	7.64	76.4	7.64	65.78
8	23360126	RUHEELA AFREEDA	MOHAMMAD MUZAFFAR HANDOO	10	6.55	65.50						65.50
9	23360455	FAISAL NAZIR	NAZIR AHMAD MIR	1400	910	65.00						65.00
10	23360122	BENISH	GHULAM HASSAN LONE	10	6.38	63.80	57.42	10	7.5	75	7.50	64.92
11	23360008	AIJAZ AHMAD WANI	GHULAM HASSAN WANI	10	6.47	64.70						64.70
12	23360371	GAZIA SULTAN	MOHAMMAD SULTAN WANI	10	6.46	64.60						64.60
13	23360193	AAKIR AHMAD GANIE	NISAR AHMAD GANIE	10	6.5	65.00	58.50	800	483	60.375	6.04	64.54
14	23360241	KHUBAY BUL ISLAM PANDIT	GH MOHI UD DIN PANDIT	10	6.45	64.50						64.50
15	23360186	SONABAR MANZOOR	MANZOOR AHMAD RATHER	10	6.44	64.40						64.40
16	23360271	UZMA MUSHTAQ	MUSHTAQ AHMAD MANGNOO	10	6.42	64.20						64.20
17	23360084	BUSHRA RASOOL	MIR GHULAM RASOOL	10	6.41	64.10						64.10
18	23360324	SAIMA MANZOOR	MANZOOR AHMAD SHAH	10	6.39	63.90						63.90
19	23360338	TABEENA HAMID	ABDUL HAMID TANTRAY	1000	638	63.80						63.80
20	23360080	SAMREENA BASHIR	BASHIR UD DIN KHAN	10	6.34	63.40						63.40
21	23360170	UMAR HASSAN	GULAM HASSAN BHAT	10	6.27	62.70						62.70
22	23360121	LUBNA SAJAD MIR	SAJAD HUSSAIN MIR	10	6.27	62.70						62.70
23	23360016	SURAYA AKHTER	GHULAM MOHAMMAD BHAT	100	62.6	62.60						62.60
24	23360010	MUNEEZA AJAZ	AJAZ AHMAD GANAIE	10	6.25	62.50						62.50

	Select	ion List No. 2 for 2-Year	r B.Ed. (Regular Mode) o	ffered at	t Depart	ment of	f Educat	ion, Sout	th Camp	us, An	antnag	
Sr.	Form No.	Name	Parentage	UG M.M	UG M.O	UG %	UG Out of 90	PG M,M	PG M.O	PG %	PG Out of 10	Total out of 100
25	23360384	SHUGUFTA MUSHTAQ	MUSHTAQ AHMAD BHAT	10	6.2	62.00						62.00
26	23360332	IQRA HASSAN	GH HASSAN MIR	10	6.19	61.90						61.90
27	23360174	BISMA QADIR	GHULAM QADIR SAYAD	10	6.16	61.60						61.60
28	23360056	NASIR YOUSUF SHEIKH	MOHAMMAD YOUSUF SHEIKH	10	6.14	61.40						61.40
29	23360087	MEHRUN NISSA	PEER SHABIR AHMAD	1800	1104	61.33						61.33
30	23360112	INSHU AKBAR	MOHMMAD AKBAR MAGRAY	10	6.13	61.30						61.30
31	23360151	SHAHZADA MUSHTAQ	MUSHTAQ AHMAD YATTO	10	6.12	61.20						61.20
32	23360096	SAIMA MAROOF	MOHD RAMZAN BHAT	10	6.1	61.00						61.00
	•			RBA				•		•		
1	23360288	BISMA BASHIR	BASHIR AHMAD NAIKOO	10	6.05	60.50						60.50
2	23360207	ISHTIAQ AHMAD HAJAM	ABDUL SALAM HAJAM	10	5.95	59.50						59.50
3	23360119	GAOSIA JAN	ALI MOHD PADDER	1800	1057	58.72						58.72
4	23360211	UZAIFA NABI	GULAM NABI MIR	10	5.8	58.00						58.00
5	23360048	MUDASERA JAN	GAYAS UDDIN SHAH	10	5.75	57.50						57.50
				OSJ								
1	23360373	PRIYAMBADA SAHU	KRISHNA SAHU	1800	1307	72.61						72.61